Solicitation # 21697 Closed: 4/16/2020

Elimination, Inc.

**Total Cost** Selected # Selected (\$)

\$ 35,236.0 0 \$0

**Connecticut Pest** 

|       |                           |          |                      | Selected (\$)       |                     | \$ 0               |           |
|-------|---------------------------|----------|----------------------|---------------------|---------------------|--------------------|-----------|
| #     | Items                     | Lowest   | Addresses            | Quantity <b>R</b> € | Unit@f <b>M</b> eas | Unit <b>⊵</b> rice | Total@ost |
|       |                           |          |                      |                     |                     |                    |           |
| 1     |                           |          |                      |                     |                     |                    |           |
|       | Adult and Continuing      |          |                      |                     |                     |                    |           |
| #1-1  | <b>Education Center</b>   | \$ 354.0 | 580 Ella Grass Blvd. | 12                  | lump sum            | \$ 29.5            | \$ 354.0  |
|       | Coop Arts & Humanities    |          |                      |                     |                     |                    |           |
| #1-2  | High School               | \$ 354.0 | 177 College St.      | 12                  | lump sum            | \$ 29.5            | \$ 354.0  |
|       | Engineering & Science     |          |                      |                     |                     |                    |           |
| #1-3  | University Magnet School  | \$ 354.0 | 500 Boston Post Road | :12 l               | lump sum            | \$ 29.5            | \$ 354.0  |
|       | High School in the        |          |                      |                     |                     |                    |           |
| #1-4  | Community                 | \$ 354.0 | 175 Water St.        | 12 I                | lump sum            | \$ 29.5            | \$ 354.0  |
|       | Hill Regional Career High |          |                      |                     |                     |                    |           |
| #1-5  | School                    | \$ 354.0 | 140 Legion Ave.      | 12 l                | lump sum            | \$ 29.5            | \$ 354.0  |
| #1-6  | Hillhouse High School     | \$ 354.0 | 480 Sherman Parkwa   | 12 l                | lump sum            | \$ 29.5            | \$ 354.0  |
|       | Metropolitan Business     |          |                      |                     |                     |                    |           |
| #1-7  | Academy                   | \$ 354.0 | 115 Water St.        | 12 l                | lump sum            | \$ 29.5            | \$ 354.0  |
| #1-8  | New Haven Academy         | \$ 354.0 | 444 -448 Orange St   | 12 l                | lump sum            | \$ 29.5            | \$ 354.0  |
|       | Riverside Education       |          |                      |                     |                     |                    |           |
| #1-9  | Academy                   | \$ 354.0 | 103 Hallock Ave      | 12 l                | lump sum            | \$ 29.5            | \$ 354.0  |
| #1-10 | Sound (Anderson)          | \$ 354.0 | 60 Water St.         | 12 l                | lump sum            | \$ 29.5            | \$ 354.0  |
| #1-11 | Sound (Emerson)           | \$ 354.0 | 82 South Water St.   | 12                  | lump sum            | \$ 29.5            | \$ 354.0  |
|       | Barack Obama Magnet       |          |                      |                     |                     |                    |           |
| #1-12 | School                    | \$ 354.0 | 69 Farnham Ave.      | 12 l                | lump sum            | \$ 29.5            | \$ 354.0  |
| #1-13 | Barnard Magnet School     | \$ 354.0 | 170 Derby Ave.       | 12 l                | lump sum            | \$ 29.5            | \$ 354.0  |
| #1-14 | Beecher School            | \$ 354.0 | 100 Jewell St.       | 12                  | lump sum            | \$ 29.5            | \$ 354.0  |
|       | Betsy Ross Arts Magnet    |          |                      |                     |                     |                    |           |
| #1-15 | School                    | \$ 354.0 | 150 Kimberly Ave.    | 12                  | lump sum            | \$ 29.5            | \$ 354.0  |
| #1-16 | Bishop Woods School       | \$ 354.0 | 1481 Quinnipiac Ave. | 12                  | lump sum            | \$ 29.5            | \$ 354.0  |
| #1-17 | Brennan K. School         | \$ 354.0 | 199 Wilmont Ave.     | 12 l                | lump sum            | \$ 29.5            | \$ 354.0  |

Solicitation # 21697 Closed: 4/16/2020 Connecticut Pest Elimination, Inc. \$ 35,236.0

Total Cost Selected # Selected (\$)

0 \$ 0

|       |                               |          |                    |          | Selected (3) |                    |           |
|-------|-------------------------------|----------|--------------------|----------|--------------|--------------------|-----------|
| #     | Items                         | Lowest   | Addresses          | Quantity | € Unit@fMeas | Unit <b>⊵</b> rice | Total@ost |
|       |                               |          |                    |          |              |                    |           |
| 1     |                               |          |                    |          |              |                    |           |
|       | Celentano Museum              |          |                    |          |              |                    |           |
|       | Academy/Poly McCabe           |          |                    |          |              |                    |           |
| #1-18 | Center                        | \$ 354.0 | 400 Canner St.     | 12       | lump sum     | \$ 29.5            | \$ 354.0  |
| #1-19 | C. Rogers School              | \$ 354.0 | 200 Wilmont Ave.   | 12       | lump sum     | \$ 29.5            | \$ 354.0  |
|       | Clemente Leadership           |          |                    |          |              |                    |           |
| #1-20 | Academy                       | \$ 354.0 | 360 Columbus Ave.  | 12       | lump sum     | \$ 29.5            | \$ 354.0  |
| #1-21 | Clinton Ave. School           | \$ 354.0 | 293 Clinton Ave.   | 12       | lump sum     | \$ 29.5            | \$ 354.0  |
| #1-22 | Columbus Family Academy       | \$ 354.0 | 255 Blatchley Ave. | 12       | lump sum     | \$ 29.5            | \$ 354.0  |
|       | Conte West Hills Magnet       |          |                    |          |              |                    |           |
| #1-23 | School                        | \$ 354.0 | 511 Chapel St.     | 12       | lump sum     | \$ 29.5            | \$ 354.0  |
| #1-24 | Davis Street Magnet School    | \$ 354.0 | 35 Davis St.       | 12       | lump sum     | \$ 29.5            | \$ 354.0  |
| #1-25 | East Rock Magnet School       | \$ 354.0 | 133 Nash St.       | 12       | lump sum     | \$ 29.5            | \$ 354.0  |
| #1-26 | <b>Edgewood Magnet School</b> | \$ 354.0 | 737 Edgewood Ave.  | 12       | lump sum     | \$ 29.5            | \$ 354.0  |
| #1-27 | Elm City Montessori School    | \$ 354.0 | 495 Blake St.      | 12       | lump sum     | \$ 29.5            | \$ 354.0  |
| #1-28 | Fair haven School             | \$ 354.0 | 164 Grand Ave.     | 12       | lump sum     | \$ 29.5            | \$ 354.0  |
| #1-29 | Hill Central Music Academy    | \$ 354.0 | 140 DeWitt St.     | 12       | lump sum     | \$ 29.5            | \$ 354.0  |
|       | W.Hooker Elementary           |          |                    |          |              |                    |           |
| #1-30 | School                        | \$ 354.0 | 180 Canner St.     | 12       | lump sum     | \$ 29.5            | \$ 354.0  |
| #1-31 | W. Hooker Middle School       | \$ 354.0 | 691 Whitney Ave.   | 12       | lump sum     | \$ 29.5            | \$ 354.0  |
| #1-32 | Jepson Magnet School          | \$ 354.0 | 15 Lexington Ave.  | 12       | lump sum     | \$ 29.5            | \$ 354.0  |
|       | John C. Daniels Magnet        |          |                    |          |              |                    |           |
| #1-33 | School                        | \$ 354.0 | 569 Congress Ave.  | 12       | lump sum     | \$ 29.5            | \$ 354.0  |
|       | John S. Martinez Magnet       |          |                    |          |              |                    |           |
| #1-34 | School                        | \$ 354.0 | 100 James St.      | 12       | lump sum     | \$ 29.5            | \$ 354.0  |
|       | King/Robinson Magnet          |          |                    |          |              |                    |           |
| #1-35 | School                        | \$ 354.0 | 150 Fournier St.   | 12       | lump sum     | \$ 29.5            | \$ 354.0  |

Solicitation # 21697 Closed: 4/16/2020

#1-53

#1-54

Parish Hall/Betsy Ross

Old Strong/ Storage

\$ 354.0

\$ 354.0

Elimination, Inc. \$ 35,236.0

**Connecticut Pest** 

0

\$0

\$ 354.0

\$ 354.0

lump sum \$ 29.5

lump sum \$ 29.5

**Total Cost** Selected # Selected (\$)

| #     | Items                    | Lowest   | Addresses           | Quantity | : Unit@fMeas | Unit <b>⊵</b> rice | Total@ost |
|-------|--------------------------|----------|---------------------|----------|--------------|--------------------|-----------|
|       |                          |          |                     |          |              |                    |           |
| 1     |                          |          |                     |          |              |                    |           |
| #1-36 | Lincoln-Bassett School   | \$ 354.0 | 130 Bassett St.     | 12       | lump sum     | \$ 29.5            | \$ 354.0  |
|       | Mauro/Sheridan Magnet    |          |                     |          |              |                    |           |
| #1-37 | School                   | \$ 354.0 | 191 Fountain St.    | 12       | lump sum     | \$ 29.5            | \$ 354.0  |
|       | Dr. Reginald Mayo Early  |          |                     |          |              |                    |           |
| #1-38 | Learning Center/ECAT     | \$ 354.0 | 185 Goffe St.       | 12       | lump sum     | \$ 29.5            | \$ 354.0  |
| #1-39 | Nathan Hale School       | \$ 354.0 | 480 Townsend Ave.   | 12       | lump sum     | \$ 29.5            | \$ 354.0  |
| #1-40 | Quinnipiac School        | \$ 354.0 | 460 Lexington Ave.  | 12       | lump sum     | \$ 29.5            | \$ 354.0  |
| #1-41 | Ross/Woodward School     | \$ 354.0 | 185 Barnes Ave.     | 12       | lump sum     | \$ 29.5            | \$ 354.0  |
| #1-42 | Strong School @ Mauro    | \$ 354.0 | 130 Orchard St.     | 12       | lump sum     | \$ 29.5            | \$ 354.0  |
| #1-43 | Troup School             | \$ 354.0 | 259 Edgewood Ave.   | 12       | lump sum     | \$ 29.5            | \$ 354.0  |
|       | Truman School/Truman     |          |                     |          |              |                    |           |
| #1-44 | Head Start Program       | \$ 354.0 | 114 Truman St.      | 12       | lump sum     | \$ 29.5            | \$ 354.0  |
|       | West Rock Author's       |          |                     |          |              |                    |           |
| #1-45 | Academy                  | \$ 354.0 | 311 Valley St.      | 12       | lump sum     | \$ 29.5            | \$ 354.0  |
| #1-46 | Wexler/Grant School      | \$ 354.0 | 55 Foote St.        | 12       | lump sum     | \$ 29.5            | \$ 354.0  |
|       | Facilities & Maintenance |          |                     |          |              |                    |           |
|       | Offices/Old Montessori   |          |                     |          |              |                    |           |
| #1-47 | school                   | \$ 354.0 | 375 Quinnipiac Ave. | 12       | lump sum     | \$ 29.5            | \$ 354.0  |
| #1-48 | Central Kitchen          | \$ 354.0 | 75 Barnes Ave.      | 12       | lump sum     | \$ 29.5            | \$ 354.0  |
|       | Gateway Center/NHPS BoE  |          |                     |          |              |                    |           |
| #1-49 | Central Offices          | \$ 354.0 | 54 Meadow St.       | 12       | lump sum     | \$ 29.5            | \$ 354.0  |
| #1-50 | The Shack/WRAA           | \$ 354.0 | 333 Valley St.      | 12       | lump sum     | \$ 29.5            | \$ 354.0  |
| #1-51 | Storage/ Conte New Light | \$ 354.0 | 21 Wooster Place    | 12       | lump sum     | \$ 29.5            | \$ 354.0  |
| #1-52 | Floyd Little Fieldhouse  | \$ 354.0 | 480 Sherman Parkwa  | a 12     | lump sum     | \$ 29.5            | \$ 354.0  |

150 Kimberly Ave.

69 Grand Ave.

12

12

Solicitation # 21697 Closed: 4/16/2020 Total Cost
Selected #
Selected (\$)

Connecticut Pest Elimination, Inc. \$ 35,236.0

0 \$ 0

| ш     | lkama                        | 1          | A -l -l   | O        | Sciected (7)           |           | T-+-18+    |
|-------|------------------------------|------------|-----------|----------|------------------------|-----------|------------|
| #     | Items                        | Lowest     | Addresses | Quantity | l∈ Unit@f <b>™</b> eas | Uniterice | iotaidost  |
|       |                              |            |           |          |                        |           |            |
| 1     |                              |            |           |          |                        |           |            |
| 2     |                              |            |           |          |                        |           |            |
|       | extra call backs or hourly   |            |           |          |                        |           |            |
| #2-1  | rate                         | \$ 5,900.0 | Blank     | 100      | hourly                 | \$ 59     | \$ 5,900.0 |
|       | nuisance wilflife Trapping   |            |           |          |                        |           |            |
| #2-2  | service                      | \$ 1,770.0 | Blank     | 10       | lump sum               | \$ 177    | \$ 1,770.0 |
|       | caught animals pick ups and  |            |           |          |                        |           |            |
| #2-3  | or daiily monitoring         | \$ 590     | Blank     | 10       | hourly                 | \$ 59     | \$ 590     |
|       | Live animal removal (include | ·<br>!     |           |          | ,                      |           |            |
|       | but not limited to birds,    |            |           |          |                        |           |            |
| #2-4  | bats, squirrels, etc)        | \$ 1,500.0 | Blank     | 10       | hourly                 | \$ 150    | \$ 1,500.0 |
| #2-5  | Bed bug inspections          | \$ 1,250.0 |           | 10       | hourly                 | \$ 125    | \$ 1,250.0 |
| #2-6  | bedbug treatments            | \$ 1,500.0 |           | 10       | hourly                 | \$ 150    | \$ 1,500.0 |
| #2-7  | termite inspections          | \$ 1,250.0 |           | 10       | hourly                 | \$ 125    | \$ 1,250.0 |
|       | bees/wasp treatments or      | , ,        |           |          | ,                      |           | ,          |
| #2-8  | removal                      | \$ 1,180.0 | Blank     | 10       | hourly                 | \$ 118    | \$ 1,180.0 |
| #2-9  | pavement ants                | \$ 590     | Blank     | 10       | hourly                 | \$ 59     | \$ 590     |
| #2-10 | Coack roaches                | \$ 590     | Blank     | 10       | hourly                 | \$ 59     | \$ 590     |
| #Z-10 | COACK TOACHES                | بر کے 250  | DIGITK    | 10       | Hourty                 | حد د      | 3 33U      |